MACROECONOMICS (Chapter 3) Review Practice








    Section 1



   100 - (____ x 5) = _______
Name: _____________________   Time- 10 minutes (70 minutes on the real test)                         #                 grade
Period: ______


        Questions- 9 (60 on the real test)


wrong
Directions: Each question is worth 5 points.  Each of the questions or incomplete statements below is followed by five suggested answers or completions.  Select the one that is best in each case and bubble in the letter.

[image: image1.png]Real Gross Nominal Gross
Period  Domestic Product ~Domestic Product

Year 1 $100 billion $70 billion
Year2  $120 billion $120 billion
Year3  $130 billion $150 billion

‘Which of the following can be concluded from the
data above?

(A) The base year for the price index was year 1.

(B) The base year for the price index was year 3.

(C) The economy was producing higher-quality
goods and services in years 2 and 3 than in
year 1.

(D) The economy was experiencing inflation
during years 2 and 3.

(E) The economy was experiencing deflation
during years 1,2, and 3.




[image: image2.png]28. Increases in the real per capita income of
a country are most closely associated with
increases in which of the following?

(A) The labor force
(B) The price level
(C) The money supply
(D) Productivity

(E) Tax rates




[image: image3.png]38. Country A’s growth rate in per capita real gross
domestic product (GDP) has been consistently
higher than that of Country B. Which of the
following factors can account for these
differences in the per capita GDP growth rates?

(A) Country B's government gives more
investment tax credits.

(B) The labor force of Country A s becoming
more skilled than the labor force of
Country B.

(C) The natural rate of unemployment is higher in
Country A.

(D) Country A’s central bank is less effective at
controlling the inflation rate.

(E) Although the populations of Countries
Aand B are the same, Country A has
twice as many people who are retired.




[image: image4.png]2. Inflation occurs when there is a sustained increase
in which of the following?

(A) Real gross domestic product
(B) The average price level

(C) The price of any commodity
(D) Labor productivity

(E) The unemployment rate




[image: image5.png]51. Which of the following is a cause of
hyperinflation?

(A) Rapid growth of real gross domestic product
(B) Rapid growth of the money supply

(C) Unanticipated decrease in aggregate demand
(D) Unanticipated increase in aggregate supply
(E) Unanticipated rise in real interest rates




[image: image6.png]7. Hyperinflation is typically caused by

(A) high tax rates that discourage work effort

(B) continuous expansion of the money supply
to finance government budget deficits

(C) trade surpluses that are caused by strong
protectionist policies

(D) bad harvests that lead to widespread
shortages

(E) a large decline in corporate profits that
leads to a decrease in production




[image: image7.png]36. In the long run, a fully anticipated increase in the
inflation rate will

(A) increase real national output

(B) increase the nominal interest rate

(C) decrease real national output

(D) decrease the real interest rate

(E) shift the long-run Phillips curve to the right




[image: image8.png]59. The real interest rate earned is the

(A) same as the nominal interest rate when
inflation is moderate

(B) cost of borrowing in current consumer prices

(C) cost of borrowing in current producer prices

(D) cost of borrowing adjusted for the rate of
change in the price level

(E) nominal interest rate adjusted for the growth
rate of the economy




[image: image9.png]60. When purchasing her house, Ms. Jones took
out a 15-year mortgage loan from a local bank
at a fixed interest rate of 7 percent. The rate of
expected inflation at the time was 3 percent. If the
actual rate of inflation was 4.5 percent, which of
the following is true?

(A) The bank gained because the real rate of
interest increased by 1.5%.

(B) The bank gained because the real rate of
interest became 3.5%.

(C) The bank lost because the real rate of interest
decreased by 1.5%.

(D) Ms. Jones gained because the nominal rate of
interest increased by 1.5%.

(E) Ms. Jones lost because the nominal rate of
interest became 3.5%.




PAGE  
1

